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Word Problems

Linear

1. A motor boat travels 400km. If the boat went
18kmvh faster, it could have travelled 600km in the
same amount of time. What was the original speed
of the boat?

2. A merchant has 5 pounds of mixed nuts that cost
$30. He wants to add peanuts that cost $1.50 per
pound and cashews that cost 54 50 per pound to
obtain 50 pounds of a mixture that costs $2.90 per
pound. How many pounds of peanuts are needed?

Quadratic

3. A power plant is located on the bank of a river that is
0.5 mile wide. Wiring is to be laid across the river
and then along the shore to a substation & miles
downstream, as shown in the diagram. It costs
512000 per mile for underwater wiring and 38000
per mile for wiring on land. If $72000 is to be spent
on the project, how far from the substation should
the wiring come to shore?

power
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4. When a basketball team charges 34 per tickst,
average attendance is 500 people. For each 20¢
decrease in ticket price, average attendance
increases by 30 people. What should the ticket price
be to ensure maximum income?
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Trig

5.

A5.2 m ladder leans against a wall. The bottom of
the ladder is 1.9 m from the wall. What angle does
the ladder make with the ground (to the nearest
degree)?

To calculate the height of a tree, Marie measures the
angle of elevation from a point A to be 34°. She
measuras her distance to be 8§ m from the base of
the tree. How high is the tree to the nearest tenth of
a metre?

The CN Tower was once the world's tallest
freestanding structure. From a certain point, the
angle of elevation of the top of the tower is 65
degrees. From a point 55.6m closer, the angle of
elevation of the top of the tower is 70 degreas.
Calculate the height of the tower.

Two airplanes leave an airpert, and the angle
between their flight paths is 40° An hour later, one
plane has traveled 300 miles while the other has
traveled 200 miles. How far apart are the planes at
this time?

An apartment building is 500 m high. It casts a
shadow 600 m long. The shadow of a neighbouring
building is 300 m long. How tall is the neighbouring
building?
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8. An apartment building is 500 m high. It casts a tﬁ P\
shadow 600 m long. The shadow of a neighbouring
building is 900 m long. How tall is the neighbouring
building?
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